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W and Y are isotopes of the same element because they have the same 
number of electrons, but different number of neutrons.
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It is an empirical formula because you cannot further simplify the elements
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﻿ has a bond energy of ﻿ and ﻿ for a total of ﻿

﻿ has a bond energy of 

Total energy to break bonds is ﻿

﻿ has a bond energy of ﻿

﻿ has a bond energy of ﻿

Total energy to create bonds is ﻿

﻿

C ​H ​2 4 614 (C ​)2 4 × 413 (CH) 2266

3O ​2 3 × 495 = 1485

2266 + 1485 = 3751

2CO ​2 2 × 2 × 799 = 3196

2H ​O2 2 × 2 × 467 = 1868

3196 + 1868 = 5064

3751 − 5064 = −1313
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All oxidation states in ﻿ is 0

﻿

﻿

﻿

﻿

Na ​Cr ​O ​2 2 7

2(+1) + Cr ​ +2 7(−2) = 0

2 + 2Cr − 14 = 0

2Cr = +12

Cr = +6
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1. Sodium is to the left of aluminium, so it is more metallic than aluminium.

2. Beryllium is to the left of carbon, so it is more metallic than carbon.

3. Boron is to the right of lithium, so lithium is more metallic.

4. Silicon is a metalloid while magnesium is a metal.
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Since it does not conduct electricity, it is not a metal. The molecule is also a 
triple bonding molecule, so the element is in Group V.
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It has different elements in a random uneven arrangement, so it is brass.

Copper and graphite do not react with dilute acids so the answer is Y
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Photosynthesis involves reacting carbon dioxide and water to produce glucose 
and oxygen.
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They are structural isomers because they have the same molecular formulas 
but different structural formulas

The first half has 3 carbons and the second half has 4 carbons. It is an ester so 
the name is propyl butanoate.

The longer the chain length, the more viscous the hydrocarbon becomes, so it 
is D
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Cracking an alkane results in a smaller alkane and an alkene

The double carbon bond of the propene will break and bromine ﻿ will take 
its place

Combining many small monomers into a single larger polymer is an addition 
reaction, where the monomer is ﻿ and the polymer is X

(Br) ​2

CH ​=CH ​2 2
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1. The polymer is not nylon because in nylon, the NH bonds are connected. 
Here, the NH bonds are connected with the CO bonds

2. NH is an amino acid monomer and CO is an alcohol monomer, so the 
reaction has a water byproduct

3. Ester linkages are COOC bonds, there is no such bond here

A thermometer and gas syringe are not used in titration.
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﻿

So B is correct

R ​ =f ​Distance travelled by solvent
Distance travelled by substance



Additional notes


